q Booklet Serial No. : 0281

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

TEST BOOKLET SERIES

TEST BOOKLET
A.P.(CC) COMMERCE, 2016

Time Allowed : 2 Hours) Maximum Marks : 100

All questions carry equal marks,

9.

10.

INSTRUCTIONS
Immediately after the commencement of the examinuation, you should check that this test
booklet does not have any unprinted or torn or missing pages or items, etce. If so, get
it replaced by a complete test booklet.
In case of any discrepancy found in English and Hindi Version in this paper, the English
Version may be trented as correct and final,
Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Booklet.
This Test Booklet containg 100 items (questions). Each item comprises four responses
tanswers). Choose only one response for each item, which you consider the best.
After the candidate has read each item in the Test Booklet and decided which of the given
responses is correct or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with Black or Blue ball pen. In the following
example, response “C" is 20 marked :

®@ ® @& ©

Do the encoding carefully as given in the illustrations. While encoding your particulars
or marking the answers on answer sheet, you should blacken the circle corresponding to
the choice in full and no part of the circle should be left unfilled.

You have to mark all your responses ONLY on the ANSWER SHEET separately given
according to INSTRUCTIONS FOR CANDIDKTES' already supplied to you, Responses marked
on the Test Booklet or in any paper other than the answer sheet shall not be examined.
All items carry equal marks. Attempt all items. Your total marks will depend only on
the number of correct responses marked by you in the Answer Sheet. There will be no
negative marking. .

Before you proceed to mark responses in the Answer Sheet, fill in the particulars in the
front portion of the Answer Sheet as per the instructions sent to you.

After you have completed the test, hand over the Answer Sheet only to the Invigilator,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

1 P.T.O.



"._‘

A.P.(CC) COMMERCE, 2016

Time Allowed : 2 Hours) [Maximum Marks : 100

1.

The charging of depreciation expense over the life of an asset rather than
the immediate full expensing of its costs is as per the principle of ;

(A) Consistency (B) Reliability

(C) Prudence (D) Matching

Some money is paid to lawyer X for checking the papers of an industrial land
before it is purchased. But after purchase, some legal issues are there for
which the lawyer Y is appointed. Money is paid to lawyer Y also. Money paid
to :

{A) X is a capital expenditure and Y is revenue expenditure

(B) Both X and Y are revenue expenditure

(C) Both X and Y are capital expenditure

(D) X is revenue expenditure and Y is capital expenditure

A Ltd., wants to make payment to supplier in the form of a pay order. The

bank deducted Rs. 160 as service charges without its knowledge. The error
is known as :

(A) Error of commission (B) Error of omission

(C) Error of original entry (1)) Error of principle

The principle of consistency means that :

(A) The accounting methods used by an entity never change

(B) The same accounting methods are used by all firms in an indusiry

(C) Generally the same accounting method is used and the effect of any
change in an accounting method will be disclosed in the financial state-
ments or notes thereto -

(D) There are no alternative methods of accounting for the same transaction

Mr. T uses his business bank account to pay for his monthly personal utilities

bills and recorded it as Utilities Account. State the accounting principle or

concept that was not adhered to :

(A) Accounting period

(B) Separate business entity
(C) Matching

(D) Going concern

AP.(CC) Commerce—A 2
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10.

Marginal costing may be preferred to Absorption costing because it :
(A) Ensures the recovery of total costs in sale pricing

(B) Complies with International Accounting Standards (IAS) 2

(C) Enables use of the opportunity cost approach

(D) Complies with the matching concept

Which of the following examples of bases of cost apportionment may relate
to rent, heating and lighting ?

(A) Number of products (B) Area

(C) Weight (D) Number of employees
Which of the following is the ODD one out ?

(A) Job costing (B) Service costing
(C) Marginal costing (D) Batch costing
Securities  premium amount can be used for :

(A) Premium on redemption of debentures

{B) Issuing fully paid bonus shares

(C) Writing off preliminary expenses

(D) All of the above ' W

Dividend yield is calculated as :

(A) Dividend per share/Market price per share

(B) Dividend per share/Face-value per share

(C) Market price per share/Dividend per share

(D) Face value per share/Dividend per share

A P(CC) Commerce—A 4
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13.

14.

15.

o

When a new company is formed with a different name after the merger of
two different companies, it is called :

(A) Amalgamation (B) Absorption

(C) Take over (D) Internal Reconstruction
Interim dividend is always shown :

(A) In Profit and Loss Account

(B) In Profit and Loss Appropriation Account

(C) On the Asset side of Balance Sheet

(D) On the Liabilities side of Balance sheet

As per Sec 2(31) of Income Tax Act a ‘Person’ includes :
(A) An Individual

(B) A Hindu Undivided Family (HUF)

(C) A Company

(D) All of the above

Mr. Andrew; an Australian cricketer has been coming to India for 100 days
every year since 2002-03. For the assessment year 2015-16, he is :

(A) Resident and ordinarily resident in India
(B) Resident but not ordinarily resident in India
(C) Non-resident

(D) Both (A) and (B)

Which income(s) of a minor child is/are not clubbed in the income
parent ?

(A) Any income of minor child suffering from disability

(B) Income which accrue or arise to a minor child on account of application
of his skills

(C) Both (A) and (B)
(D) None of the above
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17.

18.

19.

20.

Which of the following is a Non-agricultural income ?

(A) Income from breeding of livestock

(B) Income from growing of flowers and creepers

(C) Lease income derived by a lessor from lease of a coconut garden
(D) All of the above

An assessee who has no income from business or profession will not be required

to pay advance tax if the said assessee is a/an :
(A) Firm (B) Senior citizen

(C) Association of person (AOP) (D) Indian company

ADeduction u/s 80 C is allowed to :

(A) An individual

(B) A Hindu Undivided Family (HUF)

(C) Both (A) and (B)

(D) None of the above

Which of the following is not an indirect tax ?

(A) Excise duty | (B) Value added tax (VAT)
(C) Corporate tax (D) Sales tax -

Rent derived from land located out;ide India, used exclusively for agriucltural
purposes is :

(A) Agricultural Income
(B) Exempt Income
(C) Taxable as ‘business income’

(D) Taxable under the head ‘Income from other sources’

A.P.(CC) Commerce—A 8
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Which of the following theories of motivation places emphasis on the following
the carrot and stick approach for motivating employees and suggested

autocratic style of leadership ?
(A) Theory X (B) Theory Y
(C) Theory Z (D) Motivation-hygiene theory

According to Herzberg, which of the following may be regarded as

motivational factors ?

(A) Job security | (B) Salary

(C) Recognition () Comp&ny policy
Who introduced the concept of “Management By Objectives” ?
(A) Victor Vroom (B) David McClelland
(C) Peter.F. Drucker (D) Douglas McGregor

Which of the following decision-making techniques is used to generate ideas

and alternatives to a given problem ?
(A) Delphi technique (B) Brainstorming

(C) Nominal group 1w (D) Consensus mapping

The leadership style involves exchange relationship between the leader and

the followers :
(A) Transformation leadership (B) Charismatic leadership

(C) Inspirational leadership (D) Transactional leadership

APACC) Commeree—A 10
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28.

29.

30.

4
According to Hofstede, .............. is to human collectivity what personality is

to an individual.
(A) Culture (B) Climate
(C) Structure (D) Policy

Hawthorne studies are related to which stage of organizational behaviour

evolution :
(A) Industrial revolution (B) Scientific management
(C) Human relations (D) Social system

A company has three divisions to manage textiles, cement and shipping. But
to coordinate their functioning, certain essential services are organized at the

l;eadquarters. Which of the following organizational structure is followed by

the company 7
(A) Functional structure (B) Division structure
(C) Matrix structure (D) Network structure

If a subordinate is accountable to two or more bosses, then which principle

of management is not followed ?

(A) Secalar principle ' Q (B) Span of management

(C) Unity of command | (D) Division of work

Which of the following is not an example of non-financial motivators ?

(A) Self-actualisation (B) Job enrichment

(C) Opportunity for growth (D) Fringe benefits

A.P.(CC) Commerce—A 12
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31. Free rein leadership is also known as :
(B) Autocratic

(A) Democratic
(C) Laissez-faire

(D)

Bureaucratic

32. Match the following International Trade Theories :

(a) Mercantilism

(b) Absolute Advantage

(e) Comparative Advantage

(@) Heckscher-Ohlin Theory

=

t3)

(1)

(i)

(iv)

(A) (a)y—{iz), (b)—(iii), (e}—(iv), (d)—)
(B) (a)—{ii), (b)—(ii1), (e)—@), (d)—iv)
(C) (a)—{iid), (b)—{iv), (c)—(i), (d)—i)
(D) ({a)—ii), (b)—(iv), (e)—it), (d)—D)

A.P.(CC) Commerce—A
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A country to specialize in
production of those goods that
it produces most efficiently and
to buy the goods that it produces
less efficiently from other
countries.

It was in a country’s best
interests to maintain a trade
surplus, to export more than it
imported thereby accumulating

gold and silver and increase its

national wealth, prestige and
power.

A country must produce a
product when it is more efficient
than any other country in
producing it.

Countries will export those goods

that make intensive use of factors

that are locally abundant, while
importing goods that make
intensive use of factors that are
locally scarce.
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33. Which of the following is not true of NAFTA ?

(A)

(B)
(C)

(D)

A free trade agreement among United States, Canada, Cuba and Mexico
to eliminate all tariffs on bilateral trade

Protection of intellectual property rights

Removal of most restrictions on Foreign Direct Investment between the
member countries

All of the above

34.  Which of the following is true for Foreign Direct Investment (FDI) ?

(A)

(B)
(C)
(D)

FDI occurs when a firm invests directly in facilities to produce and/or
market a product in a foreign country

FDI is a short-term capital investment

FDI is also known as ‘Hot Money'

Vertical FDI is investment in the same industry abroad in which the
company operates at home country

35. Match the following key provisions of WTO :

(a)

L)

(e)
(d)

(A)
(B)
(C)
(D)

Anti-dumping measures (£) Protection and enforcement of
intellectual property rights
GATS (i} A protectionist tariff that a

domestic country’s government
imposes on foreign imports that
are priced below their market

value
TRIPS (fii) International trade in services
TRIMS (zv)  Restrictions imposed by a nation

on foreign investment that
adversely affect trade in goods
and services

(@)—(iii), (b)—(iv), (e)}—G), (d)—ii)

(a)—(if), (b)y—{iv), (e)—ii), (d)—{i)

(@)1}, (b)—(ii7), (e)—i), (d)—{(iv)

(a)—i1), (b)—(r), (e)—iv), (d)—(i)
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(@)

&)

(c)
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(A)
(B)
(C)
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wftgres 3uy () =g gue sfasnl &1 wEaa 3
) HE
GATS () UH TWHUER JEF A TH W
' F T 39 fagyh s o e
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(a)—(ii), (b)—(iv), (e)—1), (d)—(ii) ;
(a)—(iti), (b)—(iv), (e)—(ii), (d)—{i)
(a)—(ii), (b)—{iiD), (e)—(1), (d)—(iv)
(a)—(ii), (b)—{iii), (c)—(iv), (d)—i)
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36. Uruguay round negotiations resulted in establishment of WTO in January
1995, supporting principles of :

(A) Transparency, Trade without discrimination and Free Trade

(B) Rule-based trading and Most Favoured Nation (MFN) Treatment
(C) None of the above

(D) Both (A) and (B)

37. When two parties make identical offers to each other, in ignorance of each

other's offer, the offers are called :
(A) Counter offer (B) Cross offer
(C) Invitation to offer (D) None of these

38. Ram makes an offer to Rohan on 15th May by a letter which reaches Rohan
on 20th. Rohan replies back by posting a letter dated 22nd May which reaches

Ram on 26th May. The communication of acceptance is complete as against

Rohan on :
(A) 20th May (B) 22nd May
(C) 26th May ' (D) 15th May

39. A company in which 50.5% of shares are held by Delhi State Government
and the rest of the shares are held by either private sector companies or retail

investors is a :
(A) Government company (B) Public company

(C) Corporation (D) Private sector company
AP.(CC) Commerce—A 18
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AP.(CC) Commerce—A ' T P.T.O.



41.

42.

43.

Which of the following statements is correct as per the Companies Act,
2013 ?

(A)
(B)
(C)

(D)

There should be at least one woman director in every listed company
There should be at least one director who is an Indian resident

There should be at least four meetings of the board of directors in a

year

All of the above

Which of the following benefits are provided under the Employees’ State
Insurance Act, 1948 7

(A)
(C)

Sickness Benefit (B) Unemployment Allowance
Disablement Benefit (D) All of these

Elasticity of demand for luxury goods is :

(A)
(C)

Infinity (B) Less than one

More than one (D) Equal to one

Indifference curves are L-shaped or right angled, when goods X and Y

are :

(A)

(C)

Perfect substitutes (B) Perfect complements

Normal goods LW (D) None of these

Expansionary Fiscal Policy can be implemented through :

(A)
(B)
(C)
(D)

An increase in government spending
An investment subsidy
An income tax cut

All of the above
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41.

42.

44.

. wvh afufem, 2013 § SR Frefafan § § Som we W@ d 2

(A) Y& gaiag 04 # FH-J-FH UF dieen ey @6 iRy
(B) 9 |} &5 % Ry yda fasdt o afee
(C) & & ¥ fRys dee =1 %9 / &9 91 425 o =ifsg

(D) IdEa |l

HHart U =5 Afuftam, 1948 & e frofefes & @ $9-2 ot &1 wayE
fem m ¥ 2

(A) @R T (B) FUSrmdl s

() fawaim = D) # i

faomdt awgell & foag om =1 &= ¥ .

(A) s (B) wF A %W

(C) T | #Hu® (D) u&H & FAA
FAfURE o% L SR % 39a gaHoig B § v awqd X i Y ¥
(A) gof wEe= (B) i g

(C) umr Tl (D) ¥ ¥ =K =&
freerdl it A 9 P g o e v & 2
(A) TS =g A gfa

(B) fraw wfewsl

(C) smst ¥ FHAd

(D) IwFa |4t
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45. An increase in the money supply causes :

(A)

(B)

(C)

(D)

Interest rates to fall, Investment spending to rise, and Aggregate demand

to rise

Interest rates to rise, Investment spending to rise, and Aggregate

demand to rise

Interest rates to rise, Investment spending to fall, and Aggregate demand
to fall

Interest rates to fall, Investment spending to fall, and Aggregate demand
to fall

46. The Phillips curve describes the relationship between :

(A)
(B)
(C)

(D)

Savings and investment
The unemployment rate and the inflation rate
The income and interest rate

The unemployment rate and the interest rate

47. Identify a true statement from the following :

(A)

(B)

(C)

(D)

Eating popcorn, drinking cold drink and watching a movie simultaneously

are mutually exclusive
Only overlapping events can be exhaustive events

Sum of the probability of mutually exclusive and exhaustive events may
be <1

None of the above
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45. Tz amyfd o afg & Fwo A % .
(A) == = | froee, Faw wd 1 gfg sin wwa =i § 53
(B) = =i A gfg, faw ad § 3fg i =@wa #m # gfz
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D) == & # foee, faw @d 8§ fiee ot ga am § finrae
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(B) &SI 2 @R wEmd =X
(C)e;maﬁt_mzz
(D) FAFT T SR S T
47. fFefafeas § ¥ o 99 1 weafa .
(A) TE-w9 e @, wed @i iR feen e wer wEds §
(B) #ad WER = FEEH gF1% AEeE 29 8
(C) TER =aadT SN 9%1S e F GusI W A < 1 9 §Ha 2

(D) =ww # | F¢ 98
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48,

49.

50.

51.

52.

-

d

Independent events A and B would be consistent with which of the following
statements ?7

(A) P(A) = 0.3, P(B) = 0.5, P(A n B) = 0.8
(B) P(A) = 0.4, P(B) = 0.5, P(A n B) = 0.2
(C) P(A) = 0.6, P(B) = 0.4, P(A n B) = 0.2
(D) P(A) = 0.4, P(B) = 0.3, P(A n B) = 0.012

The expected value of a binomial variable is 15. The number of trials is 20.
The probability of “success” is :

(A) 0.25 (B) 0.30
(C) 050 (D) 0.75

A coin and a pair of dice are tossed together. The total number of possible
outcomes for this experiment is :

(A) 14 (B) 72
(C) 24 (D) 36

Compared to the area between Z = 1.00 and Z = 1.25, the area between
Z = 200 and Z = 2.25 in the standard normal distribution will be :

(A) Smaller

(B) Larger

(C) The same

(D) Impossible to compare without knowing p and o
What is not true in case of méfﬁcient of correlation ?
(A) It lies between —1 and +1

(B) It can never be zero

(C) The square of coefficient of correlation is termed as coefficient to
determination

(D) When two vairables move in same direction then coefficient of correlation
is positive
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48,

49.

51.

52.

=g oA A o B fefafes d & fa wgd € wwgee g 2
(A) P(A) = 0.3, P(B) = 0.5, P(A n B) = 0.8

(B) P(A) = 0.4, P(B) = 0.5, P(A n B) = 0.2

(C) P(A) = 0.6, P(B) = 0.4, P(A n B) = 0.2

(D) P(A) = 0.4, P(B) = 0.3, P(A n B) = 0.012

wF fagve =R #1 st qeE 156 ¥ R W W 20 ¥ Ewea’ W wweE
g

(A) 0.25 (B) 0.30

(C) 0.50 (D) 0.75

= o 3l D E # wg-mg I W ¥ T A & Awifen afomd w5t
gl wE B o

(A) 14 (B) 72

(C) 24 (D) 36

Z=1003R Z=125 % &9 &3 F goN d Z = 2.00 3 Z = 225 % =
&7 o Hew wmey fgaro @ o

(A) @

(B) =31

(C) =9 |

D) p R o W A faw gE wen I

Hegay OE @ AHE H§ 7 ' Wl & 2

(A) FE -1 3T 41 & #i9 wm ¥

(B) @@ FHt ¥ (zero) & & THal

(C) weday Tuiw w1 & Ayt e wEeE ¥

D) & & E w8 fRen § wen ¥ o9 weEEw e SAeTs §
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53. Which is an invalid alternative hypothesis ?
(A) Hy:p = 250 (B) H; : p = 250
(C) Hy:p> 250 (D) H; :pu < 250
54. Two events A and B are statistically independent when :
(A) P(A n B) = P(A) x P(B) (B) P(A/B) = P(A)
(C) P(A u B) = P(A) + P(B) (D) Both (A) and (B)
55. If mean = median = mode, then the distribution is :
(A) Positively skewed (B) Negatively skewed
(C) Symmetrical (D) None of these

56. Sampling distribution of mean and standard deviation is very close to the

standard normal distribution, provided :
(A) Population distribution is normal
(B) Population distribution is not normal but sample size is large
(C) Both (A) and (B)
(D) Either (A) or (B)
57. What is type I error ?
(A) Accepting a null hypothesis when it is false
(B) Accepting an alternate hypothesis when it is false
(C) Rejecting a null hypothesis when it is true

(D) Rejecting an alternate hy.pothesis when it is true
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53.

H4.

55.

56.

57.

FA-d 3ay fawcnos gHega & 2

(A) H, :p = 250 (B) Hy :p # 250

(C) Hy:p > 250 (D) Hy:p < 250

3 et A 3R B wifemwm ®9 4@ @ma § 99
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(C) (A) @R (B) g

(D) (A) 3R (B) ® & % =
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(A) 3 UiweTl &1 WiHR FEN Falh 98 359 §
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(C) @ Yftwed #1 FTHRT S@E 98 qAF &
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58.

59.

61.

62.

In the context of capital structure, which theory specifies that there is no
relationship between capital structure and firm value ?

(A) Net Income Approach (B) Traditional Theory
(C) Modigliani-Miller Hypothesis (D) None of these

Which of the following is not true regarding cash flows calculations for capital
proejcts evaluation i.e. CFAT ?

(A) Cash flows are considered after taxes

(B) Cash flows are calculated after deducting interest expenses
(C) Only incremental cash flows are relevant

(D) None of the above

What are the arguments for the relevance of dividend policy ?
(A) Market imperfections (B) Information asymmetry
(C) Uncerta;nty (D) All of these

As per constant rupee dividend policy :

(A) Dividend per share is same every year irreSpec.tive of profits
(B) Dividend payout ratio is same every year irrespective of profits
(C) Dividend rate is same every year irrespective of profits

(D) All of the above

Which of the following is a financial derivative ?

(A) Index futures i (B) Index options

(C) Stock futures (D) All of these
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59.

60.

61.

62.
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63.

64.

65.

67.

The benefit of diversification is more, if :

(A) There are large number of related securities in the portfolio
(B) Portfolio comprises of securities which are unrelated
(C) Portfolio comprises of securities from same sector
(D) All of the above

The basic objective of financial management is :

(A) Shareholders’ wealth maximisation

(B) Maximisation of EPS

(C) Maximisation of sales

(D) All of the above

Internal rate of return (IRR) is that discount rate at which :
(A) Net present value (NPV) is zero

(B) NPV is positive

(C) NPV is negative

(D) All of the above

Net Working Capital is equal to :

(A) Current Assets

(B) Current Liabilities

(C) Current Assets—Current Liabilities

(D) None of the above

Sunk costs are :

(A) Irrelevant costs (B) Relevant costs

(C) Opportunity costs (D) None of these
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63. fafadiwto %1 afaeny sfas & 3/ .
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68. Which of the following concepts includes dimensions such as “Internal
Marketing”, “Integrated Marketing”, “Relationship Marketing” and
“Performance Marketing” ?

(A) The Marketing Concept

(B) The Holistic Marketing Concept
(C) The Selling Concept

(D) The Production Concept

69. Identify the correct order of the following steps of the Strategic Marketing
Planning Process :

(1) Strategy Formulation

(2) Goal Formulation

(3) Feedback and Control

(4) Implementation

(5) Program Formulation

(6) SWOT analysis

(7) Business Mission

A) 657225125234
B) 627225155453
C) T—» 62215543

M 7262221255334
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71.

72.

Which of the following are components of Macro Environment of
Marketing ?

(A) Economic and Demographic Environment

(B) Socie-Cultural and Technological Environment
(C) Political and Legal Environment

(D) All of the above

Correctly match the following options from Column I with those of

Column II in the context of bases for Segmentation Consumer Markets :

Column 1 Column II
(1) Demographic (@)  Nations, States, Regions, Cities
(2)  Behavioural (b)  Age, Life Cycle Stage Gender,
Income
(3)  Geographie (¢}  Inmovators, Thinkers, Achievers,
Experiences
(4)  Psychological/Personality (d)  Attitude, Decision Roles, Usage,
| Loyalty

(A) (1)), (2)—d), (3)—(a), (4)—(c)

(B) (1)—a), (2)—c), (3)—(b), (4)-~(d)

(C) (1)—d), (2)—(b), (3)—ic), (4)—(a)

(D) (1)—e), (2)—a), (3)}—d), (4)—b)

Which stage of Product Life Cyele (PLC) has the following characteristics :
Large Market Share, Low Sales Growth, High Competition, Advertising Stress
on Brand differences and benefits, and focus on defending market share,
diversification ?

(A) Introduction stage (B) Growth stage

(C) Maturity stage (D) Decline stage
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70. frefafas § @ 99 fagom & ggq @AM & w=2F § 7
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73.  Deciding which type(s) of channel to use involves :

(A)
(B)
(C)

(I

Analysing customer needs
Establishing channel objectives

Identifying and evaluating the major alternatives, including the types

and numbers of intermediaries involved in the channel

All of the above

74. Which of the following tool of Marketing Promotion Mix provides wide

geographical coverage but least scope for personal interaction and

customization ?

(A)
(B)
(C)
()

Sales promotion
Advertising

Personal selling

Word of Mouth Marketing

75.  Which of the.following statements is not true ?

(A)

(B)

(€)

(D)

Green Marketing is the marketing of products that are presumed to be

environmentally inferior to others

Social Media Marketing seeks to achieve organizational goals by

communicating with several stakeholders through social media

Customer Relationship Marl-teti';lg (CRM) is a business process in which
client relationships, customer loyalty and brand value are built through

marketing strategies and activities

Rural marketing includes managing all the activities involved in
assessing, stimulating and converting the purchasing power of the rural

consumers into effective demand for specific products and services
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76.

77.

78.

79.

Which of the following is/are a form of business organisation ?

(A) Sole proprictorship (B) Partnership

(C) Company (D) All of these

Recently launched Jan Dhan Yojna is related to :

(A) Micro finance (B) Financial inclusion

(C) Priority sector lending (D) Non-performing assets

Interest received by a bank on its loans and advances is :

(A) Cash flows from financing activities

(B) Cash flows from operating activities

(C) Cash flows from investing activities

(D) None of the above

Which of the following is false ?

(A) At Economic Order Quantity (EOQ) the total cost of inventory is
minimum

(B) At EOQ the total carrying cost of inventory is equal to total ordering
cost of inventory

(C) EOQ assumes that usage of inventory is uniform throughout the
period

(D) None of the above

Operating leverage arises due to the presence of :

(A) Fixed Operating costs (B) Fixed financing costs

(C) Both (A) and (B) (D) None of these
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81.

82.

83.

85.

At which place in Lahul-Spiti District of H.P. is the confluence of Chandra

and Bhaga rivers ?

(A) Tandi (B) Thirot

(C) Mooring (D) Shishu

In which district of H.P. is the proposed Keshang Hydro Power Project ?
(A) Shimla . (B) Kullu

(C) Kinnaur (D) None of these

Which one of the following sanctuaries is in Chamba District of H.P. ?
(A) Tundah (B) Talra

(C) Simbalbara (D) Nargu

In which river basin is Kurmi Hydel Power Project ?

(A) Ravi (B) Beas

(C) Satlyj o (D) Yamuna

When was the Directorate of Primary Education in H.P. renamed as Directorate

of Elementary Education ?

(A) 2003 (B) 2004

(C) 2005 (D) 2006
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86.

87.

89.

Which Raja shifted the capital of his princely state from Bharmaur to
Chamba ?

(A) Mushan Varman (B) Sahil Varman
(C) Soma Varman (D) Lalit Varman
Who was the last ruling Raja of Nurpur princely state 7
(A) Bir Singh (B) Rajrup Singh
(C) Jagat Singh (D) Prithvi Singh

At Chintpurni temple (Una District, H.P.) three big fairs are held in a year.
Two of them are held during the Navaratras, the third is held during .............

(A) Radha Ashtami (B) Sheetla Ashtami

(C) Ahoi Ashtami (D) Shravan Ashtami

Which Himachali was conferred Param Veer Chakra in 1962 ?

(A) Major Som Nath Sharma . (B) Vikram Batra (Captain)
(C) Sanjay Kumar (Rifleman) (D) Major Dhan Singh Thapa
Wi v thié first Chairissn SPIRP: Adwinisteative Tribunal 7

(A) Justice Roop Singh Thakur

(B) Justice Hira Singh Thakur

(C) Justice A.L. Vaidya

(D) Justice D.P. Sood
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91.

92.

93.

94,

95.

Who is Archana Ramasundaram ?

(A) Director General of BSF (B) Director General of SSB
(C) Director General of CISF (D) Director General of CRPF
In which district of J. and K. is Wular lake ?

(A) Bandipora (B) Baramula

(C) Kishtwar (D) Kupwara

How many cities of Madhya Pradesh were included in the fist list of 20 smart

cities 7
(A) One (B) Two
(C) Three’ (D) Four

Which organisation has been agitating for gaining entry for women in Shani

Shingnapur temple ?

(A) Gulabi Gang . (B) Bhumata Brigade
(C) Mahila Morcha (D) None of these

In which state of India is Corbett Tiger Reserve ?

(A) Uttar Pradesh (B) Gujarat

(C) Assam (D) Uttarakhand
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91. =N THH=IH FH E 7
(A) HLuEuws. w5 AR (B) TUHUHEE. Fi wefevs
(C) #emugos =1 wefeys (D) HL.ARN.UF F SR
92. IR ¥\ 9N HYHR F frmw @ 4 ¥ 2
(A)  =T=IAR (B) @RIy
(C) fovaarg (D) FHFarg
93. 20 = fod # wedt §H A wew wiw F fEad wer ¥ 2
(A) Tu=® B) =
(€ dm (D) =m
94. ¥ fmomR wfey § wfeenel & waw vl @ faw Fed e amRte S @
T2
(A)  TEmEt (B) s faire
(C) wfgen w=i (D)  wH | W A
95. e 2R figd wra & feg g H§ & 2
(A) 3IW wW¥ (B) 7R

(C) &HH D) ZauEve
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96. Who is Onsari Gharti Magar ?
(A) Nepal’s first women speaker
(B) Leading actress of Bhojpuri cinema
(C) Ethiopian athlete
(D) None of the above

97. Which political party won the Par;liamentary elections in Poland held in
QOctober-November, 2015 ?

(A) Civic Party (B) Republican Party

(C) Law and Justice Party (D) Socialist Party
88. Who is the President of Taiwan ?

(A) Xi Jinping (B) Ma Ying-Jeou

(C) Hun-Sen (D) Leung Chun-Ying
99. Who holds the world record for longest lived person ?

(A) Jeanne Calment (B) Irenme Dalis

(C) Christopher Lee @) Jackie Collins

100. Which country is at number one in the 2015 UNDP Human Development

Index Report ?
(A) Denmark (B) Norway
(C) Australia (D) " None of these
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96.  siard Wl TR wE ¥ 2
(A) Fwre +1 veel wfeen Tt (B)  siengdt foomm =1 sqon i
(C) sfaafon = wF waez (D) T | = T
97. dRvE H FEgE-FasE 2015 W g0 99 99e A e wd # faem w2
(A) Hifaw o (B) frafece =k
(C) @ e wfew et (D) Hoferz 91
98, EaE W U=LYE WE £ 7
(A) ¥t fomfin (B) = fan g
€ ®|#+ (D) =g A
99. wEY T I % Siea @ @1 fava e Fy =fa s m ¥ 2
(A) S FeEE (B) ¥ =few

) fa=er & (M) = wifes

100. 2015ﬁ1m.@.ﬁ.wm@mﬁﬂé%a§anmmmm2m
T ?
(A) =TH@ (B) A4
(€C) smefern (D) ¥ § FE T8
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